2xdx

6. [————— (Kaya6er: 1Ly Lin(e )4 )
J.(x+1)(x2+1)2 2x*+1) 2 o 4 ( x)
7, (bl (OKaya6er: 2yx+1(In(x+1)-2)+C)
Jx+l '
8. Ie%dx. (KayaGwbr: 3e%(3/x_2—23/;+2)+c)
71-YT

AHBIKTaIMaFraH UHTCTPAIAAP bl TAOBIHBI3
(Ne 1-5 Tanceipmasiapaa uHTETpALAAy HOTIKECIH Jud dhepeHIHangay
apPKBLIBI TEKCEPIHI)

1.
343 —2x 222 +3x -1
L1. j?dx 1.2. j—dx
X
2_
.J.3\/;+42x 5 14f\/; 243
2x J_
1.5, j‘/_ 20 1.6. jwdx.
x? Jx
2% 223 =l +1
1.7. || /x —=—=+3 |dx. 18 |—F——d
2] BN
2 5 3 _
1.9, jmdx. 1.10. | 20 ved
X

111 j\/_ W A3, 1.12. j[x x—%Jrl]dx.
X
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1.13. _f[xz S 3]dx.

X

3
1.15. j[ﬂ +2x°
X

\/_+7

119j

X

Yx-2x +4

1.25. j( x—xi+2jdx
1.27. j[ﬁ—i l}dx

X x3

3 2 7
1.29. | 5 |

X

1.21. j[é/x_z—%+4jdx.

1.23. | d.

2.1. j\/3 +xdx.

2.3. [3J(1+x)” dx.

_4}0&,

1.17. j(2x3—3\/x_5+ijdx.

270

I —25 +3

1.14. j—d

Je -3t 42
Tk
\/_+5

1.18. j—d
3t~ +1
—dx
Jx -2 +6

1.22. j—dx

3x?
1.24. j[ x— =42 |dx.
I ]
J— 2643

L16. |

1.20. |

1.26. [—————d

1.28. j[%—%%}dx.
130, _[[%—é/x_z+2}dx

2.2. j \3/1 +xd.

24. |

\/1+x



dx .
(1-x)’

2.7. [(1-4x) dx.

2.5.

2.9. [(1-3x)" dx.

2.11. Ns —4x dx.

2.13. | ad

215j

%/ﬁ
2.17. [{f1+3xdx.
dx
(-2
dx
(2+xf.

2.19.

2.21. |

2.23. | J5—4xax.
2.25. j 2" 5xax.
2.27. j B—dxax

2.29. [ (3+5x) dx.

3(1—4x)5 |
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26. [—

ﬂ2+x
2.8. [(1+4x) d.

2.10. j \/1+3xdx.

212j

ﬁ5+3x

__ax
J(3—4x)’

2.16. j B —2xdx.
2.18. j %/1+3xdx.

zzoj

2.14. j

ﬂ3+x
2.22. j 5 -2xdx.

2.24. [§/(6-5x)" dx.

2.26. j Ja—2xax.
2.28. j Br2xax

2.30. [3/(2-x)" dx.



dx
3.1, | ——. 3.2. ) 3.3. )
J.3 —-X J.3x+9 J.2 3x
dx dx
3.4. ) 3.5. 3.6. )
J.1—4x J.2+3x J.2 5x
dx dx
3.7. 3.8. 3.9.
J.3x—2' J.2x+3' J.3x 4
dx
3.10. 3.11. 3.12.
I4—3x' I3x+4' I4x 2
dx
3.13. ) 3.14. ) 3.15.
J.5—3x J.4 Tx J.5x 3
dx
3.16. . 3.17. ) 3.18. )
J-3—2x J.5+3x J.3 5x
dx
3.19. 3.20. ) 3.21.
J-5+4x I6 3x I6+5x
dx
3.22. . 3.23. . 3.24. )
J-l—7x J-l+6x J-2+7x
dx
3.25. . 3.26. ) 3.27. )
-[7—3x I5 2x sz+7
dx
3.28. ) 3.29. ) 3.30.
J.2x+9 J.7x—3 J.6x+l
4.
4.1. [sin(2 -3x)dx. 4.2. [sin(3-2x)dx.
4.3, _fsin (5-3x)dx. 4.4, _fcos(z +3x)dx.
4.5. [cos(3+ 2x)dx. 4.6. [sin(4—2x)dx.
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4.7. [cos(5—2x)dx.
4.9. [sin(8x—3)dx.
4.11. [sin(3—4x)dx.
4.13. fcos(3—4x)dx.

4.17. _fsm(S 3x)dx
4.19, _fcos 5x—8)ad.

4.21. [cos(5x—6

4.25. [cos(3x -7

(
(
4.23. [cos(
(
(

(
4.15. fcos(3x+5)dx.
4.27. [cos(8x—4)dx

(

4.29. fcos(10x —3)dkx.

5.2

4.8. _fcos (7x + 3)dx.

4.10.
4.12.
4.14.

4.16
4.18
4.20
4.22
4.24
4.26
4.28
4.30

ox* -3 ' °I\/9x2+3'

55. |

dx
Boox?

—. 58
Tx2 =4 5x%+3

dx

5.11. |
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dx
Bose T a3

[sin(3 +4x)dkx.

[cos (4x +3)dx.
[cos(2+5x)dx.
[sin(5x—3)dkx.

[sin (3x +6)dx.
fcos(3x-7)
[sin(7x+1)
[sin(7 —4x)

(
(
_fsin(8x —35)dx.
( _
(

S

&

_fsin Ox l)dx.
_fsin 9x+7)

=

dx
5.3.
I Ox? +3
dx
5.6.
J-7x2 4
dx
5.9.
I 5x% -3
512, [
4—7x*



Nomres
5.16. 3;x+2
5.19. j%.
522. | 4xfx+3
5.25. | %.
5.28. | 4xfx+7
6.1. | Szicj:;
6.4. | :ii;
6.7. | %.
6.10. | \/%
6.13. | 3ixcjx7
6.16. | 2;“?9

5.14. I\/zjfj'
>17 I3x 242
5.20. | 8xfx+ 5
5.23. j\/%.
5.26. j4x 5
5.29. j4i6§;2.
6.
6.2. j\/%.
6.5. j\/%.
6.8. j\/‘gfid_x.
. 6L fzjdf7
6.14. j\/%.
6.17. j\/%.
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J. dx
N
\/de

J1-2

3x2-2

\/3 - 4x2 '

5.15.

5.18. |

521j

5.24. |

527j




6.19. |

Sxdx
5x* -3
3xdx
Ox?+2
2xdx
5x2 -3

622J'

6.25. [-—

6.28. [—

B +3

6.20. )
J.3x -6

xdx
2x2 -7
Sxdx

623j

6.26. |

xdx

6.29. j3x —
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i1

6.21. J.5x +1
Oxdx
6.24. | —
627 3xdx
' °I\/9x2+5'
Txdx
6.30. J.7x +1
dx
7.3.jm.
76 dx
O 1
dx
7.9. .
J.\/9x2+2
dx
7-12. J.3x +7
7.15. | ,_7_3x2.
dx
7.18. j3x —
dx
7.21.jm.
dx
7.24, j4x -



dx
3x2+4

dx
3x2

7.25. |

7.28. |

8.1. [e* dx.

8.4. [e™"dx.

8.7. [ dx.

8.10. [e!**"dk.
8.13. [e* " dx.
8.16. [e* > dx.
8.19. [e**dx.
8.22. [e**dx.
8.25. [e* *dx.
8.28. [e**dx.

dx

—

7.26. |

729, [

8.2. [e™dk.
8.5. [e™ dx.
8.8. [e" *dx.
8.11. [e* dx.
8.14. [e*ax.
8.17. (& dx.
8.20. " *dx.
8.23. [e* *dx.
8.26. [’ “dkx.
8.29. [&™"dx.

(2x+1)3n® (2x+1)

9.1.

9.3. dx
3

0.5, J.ln (1 x)
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dx
J8x2 -9

s

8.




dx
) J.(erl)lnz(erl)'

é/lnz (x+1)
9.10. J-de

9.8

dx
(x+ 1){/1n(x+ 1) .
dx
(x+ 2)\/1n(x+ 2) .
dx
x—3)ln4 (x—3)'

9.14. |

9.16. |

9.18. | (

3 p—
9.20. | wg’x.
x p—
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In°(x+9 In(3x+5
9.29. | (49) g 9.30. jw
x+9 3x+5)
10.
10.1. [sin* 2xcos 2xdh. 102, [£52X 4
sin® 2x
sin3x sin x
10.3. dx. 10.4.
J.cos *3x J.\/cosx
sin x
105. | dx. 10.6. [cos 2xsin2xax.
cos’ x
COS X COS X
10.7. _fsmx+2dx. 10.8. j3 .
—sinx
sin x sin x
0.9. 10.10. | ——=0dXx.
IVCOSX+ J.\/3cosx+1
10.11. [——=2 1012, [S05X 4
" sin x — 4 cos”3x
s1n5x cosdx
10.13. 10.14. dx.
J.\/cos 5x J.sin3 4x
10.15. _fsm 4dxcosdxdx. 10.16. _[%/costsiandx.
10.17. [Jeos® 2xsin2xdx. 10.18. %dx.
cos” 4dx
. 5x
10.19. [sin® Sxcos Sxdx. 10.20. [ dx.
[in3
sin” 5x
sinSx )
10.21. _f X 10.22. I\/cos7x sin 7x dx.
cos” Sx
10.23. [sin®3xcos3xdy. 10,24, [S5OX
sin’ 6x
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10.25. _N cos® 2x sin 2x dx.

10.27. _fsins 4xcosdxdx.

10,29, [0

3
\/cos4 2x

dx

113, | ————
J.sm xctg x

tg 4x .

11.5.
J.cos 4x

1. j\/ctg X

s X

dx
cos’3xtg*3x

11.11. j“ag3x

sin” 3x

11.9. |

ctg’ 6x dx.

1L13. J.sm 6x

ctg 3x

11.15. | dx.

sin® 3x

dx

1117, | ——————
J.sm *3xctg’3x

10.26. _[sin4 8xcos8xdx.

sin 4x
10.28.
J.\/cos4x
cos 6x
10.30. | o 6xdx.
11.
dx
11.2 :
cos” x4ftg’ x
ctg’ 2x
114, [—=—dx.
sin” 2x
3/ 5
1.6, [ 4
cos” 5x
11.8 e
o 51n2xctg b
1/ctg7x
11.10. | T
tg* 7x
1112, [—=5—dkx.
cos” Tx
Jte’ 4x
11.14. | L
dx
11.16. | ——————.
J.cos 4x«/tg4x
tgbx
11.18. jcos 6xdx.
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11.19.
11.21.
11.23.
11.25.
11.27.

11.29.

12.1. |

12.3. |

12.5. |

12.7. |

12.9. |

J- dx

sin® xctg’ x

5
J~c.lg2 4x di
sin- 4x

5 2
\/ 3
JEE
cos” 3x
dx

j sin’ x?/ctg4 x

6
_f g 2x dx.

cos® 2x

' 2
j—5 Ct% ad dx.

sin” x

JJarctg® 3x "

1+ 9x?

arccos’ 3x

—dx.

J1-9x2 :

\/3 arccos” x
N - x?
arccos3x
N

arcsin® 2x

bl
N

dx.

dx.

12.
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11.20.
11.22.
11.24.
11.26.
11.28.

11.30.

122. |

124. |

12.6. |

12.10. |

j,/ctg 4x .

sin? 4x

_[ ,3/ct§2g 7x .

cos” 7x

3
j\/ctg 5x .

sin’5x

J- dx
cos’ xi‘/tg2 x
5
[RAE

s x

7
J. tg 23x dx.
cos” 3x

farcsin x
J-@
arcctg’ 2x
1+4x?

dx.

ax.

dx

(1 + xz)arctg3 x

3 2
128, | —V;‘rjtfzxdx.

dx
NJ1-x? arcsin® x



arccos’ 2x i arcctg’ 3x

1211, | ——dkx. 12.12. dx.
'[ ,/1_4x2 g 1+9x* g
arccosdx | arcsin® x
12.13. 12.14. | —F/——dkx.
j\h 16x* j\/1—x2
arcsin 2x dx
1215, [—(—= m 12.16. jm.
6
12,17, [V 12,18, [ACE X
1+ 4x? 1+9x
yarcetg® x dx
12.19. | R 12.20. | (=) ooz
dx arccos’ x
1221, |——————. 12.22.
J.(lerz)arctgsx j\/l x?
12.23. 3farccos 2x Narceos2x 1224 J~arcctg4 5x
) ,/1 4x> T 1425x?
arcsin 5x dx
12.25. 12.26. .
J-\/1 25x* J-\/1—25x2 arcsin 5x
12.27. I%dx. 12.28. | ar;:co\/%c
4
12.29. “jmg N T 12.30. | %‘a%xdx
+x +64x
13.
xdx
13.1. '|.3x+4 13.2. J.x+3
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x2dx

133j

ex +1

13.5. [ 1.
13.7. [™ 2xax,
13.9. _|.e4x2+5xdx.
13.11. [ Pxdx.
13.13. [ " xdx

13.15. [e* xd.

13.17. _[e3cosx+2 sin xdx.

13.19. [ 2xdx.
13.21. [ xdx.

13.23. [¢* xax.

earclgx
13.25. > dx.
1+x
o
13.27. [——dx.
ex +1
X
13.29.
J.erZH
14.1. [—— Lo

7x* +4

13.4. _[ecosx sin x dx.

sin x

COS X

13.6. j
13.8. [ xax

13.10.

|
ﬁearcsinx ’
13.12. [e* xdx

13.14. J' sl oos x .,

13.16. j e de.

COSZX
13.18. """ cosxdk.
13.20. [¢* > xdx
13.22. [e*** sin2xdk.
13.24. [e* " 'x%dx,

13.26. [ x%dx.

13.28. [——dx.

13.30. [ xdx.

1-2x

142j



14.3. _f2x+11dx.
Sx* +
14.5. st 2 i
252 +7
14.7. | Y e
3x% +1
2x—3
14.9. _fﬁdx.
14.11. stzl dx,
x
14.13. j52x+32dx.
X"+
x—3
14.15. jm
14.17. Sf_gdx.
X"+
1-2x
14.19. Imdx
2x— 3
14.21. |
V4 x?
3x+4
14.23. | P
5x+2
14.25. |
VX' +9
x—5
14.27. | —
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144, [

NE!

dx.

16 st 1

14.8. | D e

\/7x2 +3
3x-2
3x? +1

14.10. j

14.12.

14.14.

14.16.

14.18. [———dx.

14.20.

14.22.

14.24.

14.26.

14.28.

7x*+3



3x+2
14.29. [—— \/zxi_ 14.30. [—— W

7.1- wbrrapy yarici (§ 7.2; 7.2.1 n. Kapanbi3)

AHBIKTaJIMaraH UHTErpangapasl Tady kepek (1-5 manceip manapovin
UHMeZPpaioapulnblH, Hamuicenepin oudepenyuaidan mexcepy Kepek).

4,3
. J-3—2x +Jx_2dx
.

» Hurerpan acteiHaarsl GyHKUUIHBL GemiMine Oemn xkoHe § 7.1, 3°
a), 0) KacHCTTCpiH, COHBIMCH OIpre aHBIKTAIMAaFraH WHTCTPAIAAPABIH

HET13r1 KECTECIH NaiaaaaHbI Ta0aMbI3;
1 15 5
3-2x* +3/x? — = =
—dx= 3_[x 4dx — 2_[x 4dx + jxlzdx =

=

SO I
=4x* ——x* + x12+C 4\/_ X"+ L2y X" +C.
19 17
ATTBIHFaH HOTHIKCHI TCKCEPEMI3:
3 19 17 1 15 5
4x% ——x* +1—x12+C B3y 3 19x4+12 17x12:
19 17 4 19 4 17 12

Lo

—3x 4 —2x4 +x12, |

Hazapoinpizza: 7.2 10. 1 a,0 Mpicangap/si KapaHbi3.

JL
J@a-8x)

» 7.1, 4°-kacueTTl HafaaIaHAMBI3!
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3

2
S - (4-8) v (a8 +C == (-8 +C

J(4-8x)°

Hotmxeni Texkcepemis:

!

(—%(4—8x)z+CJ =2 (=) <

J. dx
S 6-Tx
o - dx 1
> §7.1, 3°-KkacueTTi nairanaHaMbI3: _fﬁ =—=In|6-74+C.
ATBIHFaH HOTHIKCHI TCKCEPEMI3:
1 1 1 1
——In|6-7x+C | =—= (=7)= .
7 7 6-Tx 6-7x

4. [cos(2—5x)dx.
» §7.1, 3°-kacueTTl manaaIaHAMBI3;
[cos(2—5x)dx = —%sin(z —5x)+C.
HoTmkeni Texcepyai OpeIHAANMEI3:

!

(—%sin(2— Sx) + CJ = —%cos(2 - Sx) . (—5) = cos(2 - Sx). <

SJ-3dx
Jaxi =3

» §7.1, 3°-kacuerTi naiinagaHaMbI3;
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| 3dx 3 M:§1n|2x+\/4x2—3 +C.
452 2

-3 27 Joxy o3

ATTBIHFaH HOTHIKCHI TCKCEPEMI3:
3 ' 3 2+ 78)2
(—ln 2x ++/4x? —3‘+Cj S0 2NA 23
2 2| 2x+4x* -3
; 2(\/4x2 3+ 2x) ;

B 2(2x+\/4x2 —3)\/4x2 -3 _\/4x2 —3.

J. 7xdx
3x* +4
P BeekTiH aabIMbIH OHBIH O6TIMIHIH TYBIHIBICHI INBIFATHIHAAN CTIT

TypacHaipemis skone 7.2.1n. Teopemansl naiinananamerd (1 a, 6- Mpicamapt
KapaHpI3):

Txdx T, 6xdx
] ]

3x2+4:g :lln(3x2+4)+C. 2 |

3x2+4 6

J-a’x
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> J'e5’4xdx:—%.|'e5*4xd (5—4x):—%e574x +C. <

UIn? (x+2)

17 dx.

x+2

J’ln x+2) 7 D

- dx jln7 x+2)d(ln(x+2))zﬁln7(x+2)+C:
:—71n1°(x+2)+C. |
10

cos 3xdx

10.

|
cos3xdx

1 1
jdsm 3x— - _'[ sin3x - 4)? 3cos 3xd = %_f(sin 3x - 4)’5 d (sin 3x— 4) =
4
:l_(sin3x—4)§+czim+c <
4 12
J' dx
sin” 4x ,3[czg24x

2
| _f dx :—l_fctg 34){— . j dxj:
sin® 4x %/ctg2 4x 4 sin” 4x

2

2 3 L
:%_fctg 3 4x d(ctg4x) :—thg3 4x+C:—%3 ctgdx +C. <

12 _[ \/arcctg 2x

1+ 4x?
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,/ tg’ 2 2
arcctg xdx__%."arcctgzzx(_

2 Ve
1+4x° 1+4x*

5

- _% Jarcctg? 2x d (arcctg 2x) =

8
S zarcctg3 2x+C = EN arcctg® 2x +C. <«
238 16

13. J.e3°°”+2 sin xdx.

|
J'e3cosx+2 Sinxdx:_§Ie3cosx+2d (3COSX+2):_§e3cosx+2 +C.
|
14, J~3x+10 .
6x” —4
3x+10 3xdx dx 1, 12xdx
> = + == +
I6x I6x —4 I6x2—4 4I6x2—4
191___£%§;__:: In|6x 4L+ JFX 1O <
J6 (Vox) ~22 26 Vo2
72-YT
AHBIKTaIMAFaH UHTCTPAIABI TAOBIHBI3
1.
2- 3x . x 3 2
1.1 '[x +2 Kayabbr: \/Earctgﬁ—zlnbc +2|+C.
1.2. _[ - 5x Kayabor: 3arcsinx+ 5v1—x> +C.

N
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13, J-8xlix

6x+1
-1

dx.

14j

15.[—=

Jﬁ
3—-7x
N
5-3x
NCYo

1+x

N2-x*
3x+2
2x% +1
1-5x
1+25x°

4x-3

L6. |

1.7,

1.8. |

1.9.

L.10. |

111j

5x+1
«/x _

x— 3dx.
ox? +7

5—-3x

V4 -3x?

4-2x

\/1 4x?

1.12. |

113j

L14. |

L15. |

dx.

dx. 7KayaObr:

dx.
—4

Kaya6or: 8ln x+\/x2—1‘—13\/x2—1+C.
Kayabor: —ln‘2x —1\+—1 V21l
J_x+l
Wayabor: — 2 — x* —2arcsin——+C.
' 2

Kayaobr: %arcsin 2x+ %\/1 —4x* +C.

iln‘\/ﬂJr\/sz +1I—§\/2x2 +1+C.
J2 2
Kayabor: arcsin% —J2-x* +C.

Kayaobr: %ln|2x2 + 1| + \/Earctg\/zx +C.

Kayao6wbr: %arcthx —Lln|l + 25x2| +C.

Kayao6wbr: —ln|3x 4|—£1 V3e-2 +C.
\/_x+2

Kayabbr: 5¢x> —6 +1In [x +/x? —6|+C.
o1 2 1 3x

Kayaobr: Eln|9x +7|—ﬁarctgﬁ+C

Kayabbr: \/Sgarcsm\/zg +44-3x" +C.

Kayabb1: 2arcsin2x + %\/l —4x* +C.
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1.16. _f > xzdx. Kayabbi: J_arcth_——ln|2+x |+C
1.17. f\/%dx. )Kayaﬁm:%ln|2x+ 1+ 4% +%\/1+4x2+C.)
1.18. IH Kayabor: Sarcsinx+4v1—x* +C.
Sx - 1
1.19. | Kayabbr: 5vx* -3 —In|x +/x? —3‘+C.
N
1.20. _f 1-3x dx. Kayabbr: lln 2x -1 —§1n|4x2 —l|+C.
-1 4 2x+1
lln‘3—2x2‘ J_‘
3 N Moo
1.22. J.\/% Kayaobr: —\/9—x2+4arcsin§+C.
1.23. sz de. JKayaGpr: In|x -S| J’ RIS
Tx— 2
1.24. | Kayaber: TWx* —1 - 21|+ - 1]+C.
Jr? -
1.25. | \}%dx. Kaya6or: In x+\/x2+1‘+3\/x2+1+C.
1.26. '[xxz_+57 dx. Kayabbr: %ln|x2 +7|—%arctg%+€
1.27. _[irzx Kayabor: 3arctgx—%ln|l+x2|+C.
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8.29. | ——. Kayabbi: arcsin +C.
J.\/3—x—x2 ' V13
d
8.30. jix Kayabpr: In|x+2+x’ +4x+1|+C.
Vxt +4x+1
9.
o1, [— L _ux
2x°+3x—4
(Kayabr: —ln‘2x +3x 4\+ LSRRI
N 4x+3+\/ \
x+6
92, | ———
".3x2+x+l
1 6x+1
Kayabbr: —In|3x” +x+1{+ arctg
& | J_ N
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2x—1

9.3. f—
3x° —2x+6
Kayabbi: l1n|3x2—2x+6| tg3x_
3 T
9.4. _f—
2% +x+5
1 4x+1
Kayabpr: —In|2x* +x+5
T R e v
x+5
9.5, | ——dx.
'[ x> +x-2
Kayabbi: —ln|x +x- 2| —ln 1+C.
x+2
—-3x+2
Kayabbr: %ln|5x2—3x+2| J_ 1(17_3
x+4
9.7. | ———
I2x2—6x—8
Kayabbr: —ln|2x —6x— 8|+—ln 4+C.
x+1
9.8. J'X—de
Tx+1
Kayabor: lln2x2—7x+l|+ |4x - \/_|
4 441 |4x 7+J_|
9.9, j—Sx 2
S5x+2
JKayabbr: §1n|2x2—5x+2|+£n 2)C_L“JrC.
4 2x-1
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9.10, [—x—1

4x* —4x+5
Kayao6wbr: %ln 4x* —4x+5 +%arctg2x_l+C.
x+1
9.11. | ———
'[2x2+x+l
Kayabbr: l1n|2x2+x+1|+ artg4x+1
n N
x+1
912, | ——dx
'[3x2—2x—3
1 [3x-1-4I0|
WKayabor: —In[3x* —2x 3|+
IR | [+ 3J_ 3x— 1+J_|
9.13, [—t8
4x*+6x—-13
Jdxr3- J6 \
Kayao —ln4x +6x—13|+
yabur: | + 2J_ 4x+3+J_\
0.4, [ i
x“—4x+1
5 Je=2-43]
Kayaber: —In|x* —dx+1|+
Ya1>12| |2\/_ |x2+\/_|
x
9.15. | ———
'[2x2+2x+5
Kayao6wbr: %1n|2x2 +2x+5|—éarctg 2ot +C.
x-3
9.16. | ——
J.x2—5x+4
WKayabbr: —ln|x —5x+4|——ln 4‘+C.
y—
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2x—1

9.17. | ——
J.2xz+8x—6
)Kayaﬁbl —ln‘2x +8x— 6‘ 4J_ x+§ ﬁ}
x+2+
2—x
218. | —8M8M8
I4x2+16x—12
Kayao6br: ——ln‘4x +16x — 12‘+2\/_ X—i—i j__}
x+2+
2x—1
9.19. jm
Kayaodbr: —ln|3x —6x— 9|+—1n Jj
x
2x—1
N
Kayaobr: _lll’l|2x2—x—3|+i]n 2x-3 LC
2 10 [2x+2
9.21. jx—“
3x2+x-1
Kayaodbr: —ln‘3x +x— 1‘ 6\/_ 2x+1 F}
x+1+
3x+1
el v
Kayaobr: —ln‘x 4y — 2‘+2J_ xX— 2 ?}
X—2+
0.23. [
2%t +x—4
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|4l J_|

Kayaobr: iln|2x2 +x— 4| +

4\/ 4x+l+\/ |
024, [—25 g
3x“+2x-17
[3e+1-v23|
Kayao —ln3x +2x -7+
ayaer: <hn |+ 6\/ 3x+1+\/ \
x-3
9.25. | ———
I4x2+2x—3
Kayao6wbr: lln‘4x2+2x—3‘—\/l— AR J_‘
8 8 4x+1+\/_‘
9.26. .‘.—2
3% —x+5
1 2 13 6x — 1
Kayaobr: gln|3x —x+5|+3\/§arctg \/_
3x-2
9.27. | ——
'[x2+5x 1
3 [2e+s V2]
Kayaber: =In|x” +5x—1
Yt 3 | - 2\/ |2x+5+\/ |
x=7
9.28. | ———
I4x2+3x—1
8x -2
Kayabbr: —ln|4x +3x - l|——ln +C
8x+8
920, [ 2L 4
5x°+2x+10
Kayaobr: lln|5x2+2x—10| arctgsx+1 C
5 e} 5 :
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x—4
aso.jg;;:;::;ak

10x—1

3 arct +C
54139 s V139 '

Kayabubr: iln|5x2 —x+ 7| _
10

10.

01, =85 4

3x2-3x-16
2
Kayaobr: g 3x2—3x—16—4J§1n

102, [——22

22 —4x-1
Kayabbr: %m ~L2In

+C.

1 JFZ__""TE
X——+,Jx" —x——
2 3

1
x—l+\/m
2

+C.

x—1
10.3. [—— dx.
e

1 5 1 5
Kayao6wbr: —M——ln x——+\/E+C
3 B3| 6 303
104, 21
1+x—3x"
Kayater: —EM+ 4 arcsin6x_1+C.
2x+5
10.5. | ———d.
jvﬁ¥71§513

+C.

L 3
Kayaob1: Eer Eln

9
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2x-10

10.6. jmdx
Kayabpr: -2 1+x—x2—9arcsin2x_1+C.
NS
2x -8
10.7. _fﬁdx
Kayabpr: 24l-x—x° —7In x—%+\/x2—x+l +C.
3x+4
10.8. | —===ddx.
j\/x2+6x+13
Kayabpr: 3 x2+6x+13—51nx+3+\/x2+6x+13‘+C.
3x-1
10.9. | —=————==4dx.
I\/2x2 —5x+1
3 ) 11 5 ) 1
Kayabpr: —v2x° —5x+1+—=In|x— =+ [x* —=x+—|+C.
2 a2 4 20 2
S5x+2
10.10. Imdx.
Kayadbr: 5 x2+3x—4—1—211nx+%+\/x2+3x—4 +C.
x—4
10.11. Imdx
1 15 1 7
Kayabpr: —v2x* —x+7 ——=In|x——+ 2-r e
2 NG 2

10.12. | 2l
X 4

Jx?=3x+

Kayaber: 2vx> —3x+4 +2In +C.

3
x—§+\/x2 -3x+4
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1013, (2L

J2+x—x?

Kayaopr: —4 2+x—x2+3arcsin2x_l+C.

, 5
x+1+ x2+2x—5

Kayaobr: -3 4+2x—x2+5arcsinx—_l+C.

NG

1014, [-——222

\/2x2 +4x-5
5
Kayaobr: 5\12)62 +dx—5-42In

1015, [ g

Va+2x —x?

+C.

10.16. | X7

V3xT —2x+1
1 20 1 2 1
Kayabpr: —3x> —2x+1——=Injx——+,[x* —Zx+=|+C.
3 33 37TV 733
x+5
10.17. fmdx.

Kayabbr: —+/3—6x—x* +2arcsin )\C/g

+C.

1018, [——=2 g

V3xP+x-5
2 11
Kayabbr: §V3x2 +x-54+——=In

1019, (22 4

Nx? =5x+1

Kayaobr: 7 x2—5x+1+%ln

+C.

x—%+\/x2 —5x+1
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10.20. dx
4x* +x-5
1 65 1 1 5
Kayabbr: —4x’ +x-5-—In x+—+"x2+—x—— +C.
4 16 8 4 4
1021, [0 g
2+3x—x°
Kayadbr: —3 2+3x—x2+£arcsin2x_3+C.
2 J17
x—6
10.22. Imdx
Kayadobr: — 3—2x—x2—7arcsinxT+l+C.
2x+3
7 1
Kayabbr: V2x° —x+6 +—=In|x——+ 2oXy3 +C.
22 4 \} 2
1024'[ =9 4
Na+2x—x2
Kayadbbr: — 4+2x—x2—8arcsinxT_51+C.
2x+7
10.25. jmdx.
Kayabpr: 2 x2+5x—4+2lnx+%+\/x2+5x—4 +C.
3x -4
10.26. | —=—=dkx.
j\/2x2—6x+1
3 1 3 1
Kayaodbr: ZN2x? —6x+1+—=In|x—=+,[x* —3x+=|+C.
2 22 2 V 2
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2x+5

10.27. | ——d.
j\/3x2 +9x -4
2 2 3 4
Kayabbr: —\3x*+9x—4 +——=Infx+ =+ [x* +3x—=|+C.
3 NE) 2 \/ 3
4x+3
10.28. fmdx.
1 , 5
Kayabbr: 242x° —x+5 +242In x—Z+ x* —g-i-E +C.
3x—-7
10.29. Iﬁdx
Kayaber: 34/x” —5x+1 +%ln x—§+\/x2 -Sx+1|+C.
Tx—1
10.30. _fmdx
Kayabpr: — 742 —3x—x* —éarcsin 2x+3 +C.
2 J17
7.2-YT wbirapy yJarici
AHBIKTaIMaFaH UHTETPAJIIBL ecenTey kepek (§ 7.2)
3-Tx
1. | —dx
I4x2 +5
|
3-7x dx xdx 3 d(2x)
fﬁ =3]— 2_.‘.42 Y 5 T
X (2x) +(J§) X (2x)" +(\5)
7 ¢ 8xdx 3 1
- —arct ——ln 4’ +5)+C. <
8".4x2 +5 245 g ( )

N
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dx

2. jm

» AHHBIMATIBI aybICTRIpAMBI3. u=2—¢ " Ouma du=3e “dx

JKOHE
dx C1e3edx 1o, s,
J.€3x(2—e3x)_§ = ln|2 e+C. <
3x’ —4x
3.
I x*+1

» Unurterpan acteiaga Oypeic Oemmex Typ. AJIbIMBIH OemimMiHe Oemimn,
oHBl OYTIH O6miK HEH Aypbic OeNIIEK KOCBIHABICHIHA KENTIPIN aJbII
uHTerpaiaainme3 (7.2.3 m. KapaHsI3):

B A ~3p-— dx—§4—§2—11(2+1)+c
jx+1 |3 g =gy gl |

<

Hazapovinpizea: 7.2.3 m. 1 ;xoHE 2 MBICATIIAPIBI KAPAHBI3.

4. [cos’(7x+2)dx.

» Byn _fsinm x-cos” xdx Typiugeri maTerpangeiy m=0, n=3
skarmadel (§ 7.3., (6)-bopmyna, a) mbicanabl KapaHpiz). TpuroHoMeTpHs-
JBIK  TEMC-TCHIIKTI.  COS” (7x+2)=1- sin? (7x+2) Ak a7 aHbII,
TabaMBI3;

[cos®(7x+2) dx = [cos® (7x+2)cos (7x +2) dx =
= _[(1 —sin’®(7x+ 2))cos (7Tx+2)dx=

316



= _fcos(7x+ 2)Cl’x—.|.sin2 (7x+ 2)cos(7x+2) dx = %sin(7x+ 2)—
—%J.sin2 (7x+ 2)d (sin(7x + 2)) =

:%(7x+2)—%sin3 (7x+2)+C. |

5. _[ctg45xdx.

> ctg’Sx=— —1 TeHpgiriH nafigasaHaAMBbI3;

sin” 5x

1

ctg® Sxdx = [ctg?® 5x —1 |dx = [ctg®5x dx — [ctg® Sxdx =
'[ 8 '[ 8 (sin25x j '[ 8 sin” 5x '[ 8

1 ) 5 1

=——|ctg” 5x| — dx — —1|dx=
5'[ & [ sin” SxJ J.(sinz S5x j

1 1
=——ctg’Sx+—ctgSx+x+C . <
15 5

6. _fsinzxsinzxdx.
2 2
|
.7 .3 1 1. 1 .
_fsm—xsm—xdx:—J.(cos2x—cos5x)dx:—s1n2x——s1n5x+C.
2 2 2 4 10

|
Hazapuvinpizza: § 7.3 1. COHFBI MBICATIIB KAPAHBI3.

J. dx
6x> —3x+2

» byn 721 n (*) typizmeri uaTrerpan. OHzmarel Mblcania
KOPCETUITCH OAICTI KOJIIAHAMBI3:
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2 = — =
6x* =3x+2 67 2_ x+%
:lf dx 1 dx B
6 2 6 2 B
(x_{j+1_1 BN EVE
4) 3 16 4 43
1
x_i —
= 4J§ arctg =W/ J_ (4x 1)\5 +C. <
T RN RN E AN
43
J. 3x_6
2—5x—x*

» Myszga 7.2.1 n. ) KepCeTINTeH SAICTI KOAAAHAMBI3!
J- 3x-6 __J. —2x+4-5+45
2-5x—x’ 2-5x—x’
_ 3¢ 2x-5 ax 3 9 J- dx

2792 -5x—x? 2

2-5x—x"
:——ln|2 5x+x2|+—f ad :——ln|2 5x+x|+
5 25
e
2 4
27 dx -
205V (V3
2 2
L5 33
=——Inl2-5x+x*|+ 1 2 2 \c-
n‘ X x‘ \/gnx_éJr@
2 2
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3, 03 | |2x-5-433| .
= 2ln‘z 5x+x‘ 2«/_ . 5+\/_‘
9 J- dx

BN

» byran 7.2.1 o. (*) KepceTiIreH HHTETPAIIAY SICIH KO A-HAMBI3!

d(x+lj
1 5

= - —
SR T

:Llnx+l+ szrzx—Z +C. <
J5 5 \/ 575
10, [—=T i
Ji—4x—3x2

» Mynna 7.2.1 n. Eckepryae KepCeTUITCH 91C KOIIAHBLIAIbL

f f —6x+21- 4+4
\/1 4x —3x? Nl—4x-3x*
f —6x—4 25 f dx _
37 J1-dx—3x2 1 4 2
3 3

:—§JI—4x—3x2 _ 2 e

”IJ@ZM
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X+

2 25 . 3
= Ji—4x—3¢% - +C=
3 X X 3\/ga,l‘CSIH ﬁ

3

:—§\/1—4x—3x2 —33/5§arcsin3x+2+C. |

Nid

73-YT

AHBIKTAJIMAFAH HHTErPAJIAAPABLI TAOBIHBI3

o

2
13, [
X

NI

4

1.4. _f dx.

L5, [V4-x’dx.

2
16, [YX
X

x"+4

L7. |

dx.

1.

1-x%* -1

N

Kayabpr: Vx> -1 arccosl +C.

X

_ 2

Kayaobr: \/4+x2+ln2 dex
1,/ 1-x?)
Kayaobr: C—gﬂ.

+l-x* +C.

Kayaobi: %ln

+C.

244 +x?
3

X

Kayao6wbr: 2arcsin§+§ 4-x* +C.

2
Kayabor: Vx> +9 +§ln 3oVx 9 +C.
2 13+4/x%+9

x+\/4+x2|_\/4—x2 .
x—\/4+x2| X

Kayaobr: In C.
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\/4—x2

x4

dx

1’(1+ xz)3

x4

(4—x2)3
L11. dex.

dx

18. | :

19. |

1.10. dx.

dx

«’(1+ |

x2

Jx? -9
x

1

L12. |

1.13. |

dx

NE

1.15. jx3 9—x’dx.

L14. |

)5
dx.
=.

1.16. |

dx
117, | —F—.
szxlxz -1
N R

x2

dx.

1.18. |

2 X
Kayabbr: L iC
1+ .
1 \/ 4+x%)
Kayao6wbr: C——(+—3x).
12 b
1 "(4—)(52)5
Kayabpr: C-———F—.
20 b
3
Kayaobr: > 1 al +C.
‘\/1+x2 3\/(1+x2)3
> 3
Kayabbr: x° -9 —3arccos—+C.
X
X
Kayaobr: C - .
x* -1

Kayaobr: C—iM.

Wayaser: 1y(9-+) -3(0-2) +C

X \/x2—1

Kayaobr: C—

1
Kayaobr: > In
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Kayaobr:

\/x2—9+x

Jx* -1 x

Jxi-1

X

Jx? -9

+C.

\/x2—9—x

X

+C.



dx
1.19. | —————4
J-x3\/x2—1 )

V9—x?
4

1.20. |
X

dx.

dx

szxlxz +9.

1.21.

1.22. j x2\/1—x2dx.

1.23. [x*V1-x%dx.

=)

1.24. _[ x4 dx. Kaya0b1: arcsin z + -3
dx X
1.25. Kayao6wbr: +C.
/ (4+x2)3 NI
[2 9+x? ’
1.26. _[ * 4+9 dx. Kayao6wbr: C—2—17(73).
x x
1.27. J-L Kayaobr: 1 x +C.
(9+x2)3 9 V9 +x?
2
1.28. J'\/% Kayabbr: %arcsing—%xxb—xz +C.
' 2 3
1.29. _f 16 > dx. Kayaobr: C—ixi.
4816 -x7

x? -1

e +C.

Kayaobr:

1 1
—arccos— +
2

Kayaobr: C—i (9 * )
27

x
V9 +x?

Kaya6or: C -
9x

Kayaobi: %arcsinx—%x\/l—x2 (1—2x2)+C.
Kayabbr: é\/(l—xz)5 —éx\/(l—xz)3 +C

1\'4 x
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X

l6—x%

Kayaopr: C— arcsin% -

2.

1 1 \/1+x2|

x+1_5+ﬁ(x+1)|'

Kayaodbr: ‘/x_—l +C.
x+1

Kayaoor: C - Lln

2

Kayaoer: C - x_+1

x—1

’ 42

Kayaopr: C —lnu.
X

’ 2

Kayaopr: C —lnu.
X

Kayaobr: C —arcsin l

X
’ 2
Kayaobr: C—lnl+l+Lx+l.
x 2 X
’ 2
Kayaobr: C —1In w—l
b 2
2-x

Kaya6pr: C —arcsin

N
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J- dx
xx? —x—1 .
dx
xVl+x—x° .
dx

J.x\/szrx—2.

dx

2.10.

211 |

2.12.

213. |

(erl)\/x2 —x+1

dx

2.14. |

dx

(erl)\/x2 —x—l.

2.15.
J.(erl)\/)cz +x+1

2.16. | dhx

2.17. &

(erl)\/x2 +x—l.

(erl)\/ler—x2 .

2.18. | dx

(x—l)\/x2 +x+1

dx

2.19. |

2.20. | dx

(x—l)\/x2 —x+l.

(x—l)\/x2 +x-1

Kayaobr: C —arcsin x+2

N
lerller—x2

2

1
—+
X

Kaya6or: C —In
x

C—Larcsinﬂ.

NG 3x
|1 1 o

Kayabbr:

. Kayaobr: ¢ —Lln

——+ .
V3ox+l 20 B(x+) |
1 3 |
Kayaopr: C—In|——— Ny 77l
x+1 2 x+1
’2
. Kayaonr: C—lnL—l Lx”
x+1 2 x+1
. x+3
Kayao6br: C —arcsin .
\/g(x+l)
3x+1
Kayaobr: arcsin—+C
Y Nt

1 |1 1 Jﬁ+x+ﬂ

. Kayaépr: C——=In — .

ya0bI \/5 |x—1+2+ \/g(x—l)|

H@wﬁm:C—m—iT+l+ii;%iL
X — X —

1 3 x?+x-1
x—1

. Kayaoer: C—In

x—1
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dx
2.21. j(x_l)sz —

(-1
2
2.22, _f e . Kayaosr: C-In L—1+M.
(x—l)\/ler—x2 x=1 2 x-1
2
2.23. _f d . Kayaopr: C—-In LJrlJru.
(x—i—l)x/l—x—xz x+1 2 x+1
dx . 3x-1
2.24, . Kayabor: C —arcsin )
J.(x—l)\/l—x—xz \/g(x—l)
dx 1 1 l-x—x*
225, | —/—. Kayabpr: C-In|———+———
J-xxll—x—xz x 2 x
2.26. J.L Kayaobr: C—Larcsin;.
xVx® +x-3 3 3
dx 1 . x+5
2.27. . Kayabpr: C ——arcsin——.
J.(erl)\/szrx—2 V2 3(x+1)
dx 1 |1 3 +x?-3x+2
228, | —/—— XKayaobi: C ——<In|———+——"—|.
jx\/x2—3x+2 2 x4 2x
2
2.29. o . KayaGpr: C—iln| L L ey
()chl)\/2—)c—x2 2 |x-|—1 4 x+1
dx 1 3 1-3x-2x’
2.30. | —F/———. Kaya6pr: C-Inf——=+——"—"-
J-x\/1—3x—2x2 x 2 X
3.
In (cos x)
3.1. J.—de Kayao6wbr: tgxln(cosx)+tgx—x+C.
cos” x

Kayaoer: C —arcsin 3-x
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3.2. _fcos(lnx)dx.
Inx
3.3. | —dx.
o

3.4. [In(x+2)dx.

3.9. [xIn——dx.
I+x

Kayabbr: g(sin (ln x) + cos(ln x)) +C.

Inx+1

Kayaobr: C—
X

Kayabbr: xIn(x+2)-x+2In(x+2)+C.
Kayabb: C —ctgxIn(cosx)—x.
Kayao6wbr: lnxln(lnx)—lnx+C.

Kayaber: xIn’x—2xInx+2x+C.

Kayao6wbr: 2WxInx—4Jx +C.

3.10. J.ln(x+\/1+x2)dx. Kayaodbr: xln(x+x/l+x2)—\/l+x2 +C.

3.11. [In(x+4)dx. Kaya6br: xIn(x+4)—x+4In(x+4)+C.

xln(erxller2 )

3.12.f dx. KayaoOb1: 1+x21n(x+\/1+x2)—x+C.
\/ler2
In (sin x) .
3.13. _f—zdx Kayaobi: C—x—ctgx—ctgxln(smx).
sin” x
3.14 J'len(x+l)dx Kayalbi: x—31n(x+1)—x—3+x—2—£+lln(x+l)+C
14. . Kay = 0 e 33 .
In xIn (In x) 1. 5 | R
3.15. [———Fd. Kayabbr: Eln xln(lnx)—zln x+C.
x
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3.16. _fln(xz +l)dx. Kayaobr: xln(x2 +l)—2x+2arctgx+C.

3.17. ln—xdx Kayaodbr: C—ln—x—L

3

X 2x?  4x?

3.18. _f\/;lnzxdx. Kayaobr: %\/x3ln2x—§\/x3lnx+5\/x3+(?.
1-x 2

3.19. _fln—dx Kayaowbr: xln——ln(x —1)+C.
1+x

3.20. _f(x —-x+ l)ln xdx.

32 32
Kayaobr: Y - ki
3 2 9 4

3.21. _[\/;lnxdx. Kayaobr: %\/x_31nx—g\/x—3+(7.
3.22. J.ln(smx) Kayaobr: tgxln(sinx)—x+C.

cos” x

3.23. _fxln(xz +l)dx. Kayabbr: %zln(xz +1)—x—22+%1n(x2 +1)+C.

2 2 2

3.24. len2 xdx. Kayabbr: —In?x——Inx+—+C.
2 2 4
x3 x3

3.25. [x” Inxdx. Kayaber: —Inx-—-+C.

2 2

3.26. [xIn(x+1)dx. HKayaGepr: x?ln(x+l)—x7+§—%ln(x+l)+(7.

3.27. [sin(Inx)dkx. Kayabbr: %(sin(lnx)—cos(lnx))JrC.
2
3.28. _f(xz—4)sin5xdx. Kayaobr: ixsinSx—x — 1cosSx+C.
25
3.29. [In(x+5)dkx. Kayabpr: xIn(x+5)-x+5In(x+5)+C.
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~ d.

3.30.
3

2—
Kayabbr: xln al —21n|4—x2| +C.
2+x

4.1. J.\ll—xarccos\/;dx.
Kayabbr: gx/x_3—§\/;—§«’(l—x)3 arccos/x +C.
4.2. _Nl—xarcsin\/;dx.

Kayadbr: —

4.3. _[ xarctg 2xdXx.

arcsin x

N
arcsin X
N
arcsin J_

Ji-x
xarctg x

Ji+x?

4.8. J- xarcsim x dx.

VJ1-x?

4.9, _[ xarctg xdx.

4.4, _f dx.

45. |

4.6. [———

dx.

47. |

4.10. _[ xarcctg xdkx.

x——\/_—— 1- x * arcsinafx +C.
¥? 1
—arctg2x——+ arctg2x+C.
2 4 8
2Jx+larcsinx +441-x +C.
Kayabpbr: 441+ x —241—xarcsinx +C.

Kayaobr:

Kayaobr:

2\/;—2»\/1—xarcsin\/;+C.
x+1+x2

Kayabbi:

Kayaber: 1+ x? arctgx —In +C.

Kayabbr: 1—x* arcsinx +C.
2

X x 1
Kayabpr: —arctex ——+—arctgx +C.
y 2 & 2 2 &

2

1
Kayaobr: x? arcctgx + % + Earcctg x+C.
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4.11.

4.12.

4.13.

4.14.

4.15.

4.16.

4.17.

4.18. |

4.19.

4.20.

4.21.

4.22.

4.23.

4.24.

J- xarccos2x
\/1 —4x?

_[ arccos 2xdx.

_[ arctg xdx.

J- arccos '\/_
Jiex

J- X arccos x

e

J-arccos X .
Jl-x

_[ arcctg 2xdx.

xarcctg x

Vi+x?

_[arcsin 2xdx.

ax.

J- xarcsin 2x

\/l 4x*

arccosx
_[ dx.

\/1+x

_[xz arctg xdx.

J. xarctg 2xdXx.

[arctg (x + 5)dx.

ax.

Kayaobr: C— f - —\/1 4x” arccos 2x.

1
Kayabbr: arccos2x— 3 VI-4x* +C.

Kayabb1: xarctgx— %ln(l +x° ) +C.
Kayaobr: C — 2x — 24/1= xarccosVx.
Kayaobr: C—x— \/1—7 arccos x.
Kayaobr: C - 41+ x - 241 - x arccos x.

Kayabbr: xarcctg2x + %ln (1 +4x° ) +C.

x+41+x2

Kayabbr: 1+ x” arcctg x +In +C.

Kayabbr: xarcsin2x + %\/l —4x* +C.
1 1 2 .
Kayao6wbr: 5 X— 7 1—4x* arcsin2x + C.

Kayabbr: 241+ xarccosx — 41 —x +C.

3
X 1 1
Kayabbr: —arctex ——x> +—In{x> +1)+C.
y Farctgx o v ein(x” +1)

2
Kayaobr: % arctg2x — % + %arctg 2x+C.
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Kayao6wbr: xarctg(x+ 5) —%ln|x2 +10x + 26| + 5arctg(x+ 5) +C.

3 2

1
4.25. | x? arcctg xdkx. Kayaobr: x—arcct x+ (k41 +C.
| g y S arectg X+~~~ (x* +1)

4.26. _[xarctgz xdx.

2
Kayao6wbr: x?arctgz X+ %arctg2 X —xarctgx + %ln(x2 + 1) +C.

4.27, _[xz cosgdx. Kayaber: 3x° sing +18x§ - 54sin§ +C.

4.28. |xarcctg® xdlx.

2
1 1
Kayaobr: % arcctg” x + Earcctg2 X + xarcctgx + Eln (x2 + 1) +C.

2

4.29, _fxz sin 2xdlx. Kayaobr: gsin 2x— % cos2x+ %cos 2x+C.

4.30. _f(x2 +4)e2xdx. Kayabbr: %(x2 + 4)ezx +%xezx +%e2x +C.

5.
x2 b 1
5.1. _fxz cos 2xdXx. Kayaobr: Esin 2x+ Ecos 2x— Zsin 2x+C.
x* x 1
5.2. _fxsinz xdlx. Kayadbbr: — ——=sin2x——cos2x+C.
4 4 8
5.3. _[xsin xcos xdx. Kayaobr: %sin 2x—§cos 2x+C.

5.4. _fxz (sin2x—3)dx.
X . x? 1 3
Kayaobr: 5s1n2x—7cos2x+zcos2x—x +C.
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3
5.5. fxz(sinx+l)dx. Kayaobr: 2xsinx—xzcosx+2cosx+§ +C.

5.6. f(x2+x)e’xdx. Kayabbr: C—(x2+3x+3)e’x.
5.7. f(x2+x)exdx. Kayabbr: (xz—x+l)ex+C.
5.8. f(xz—x+l)e’xdx. Kayabbr: C—(x2 +x+2)e’x.
5.9. [(x* —x+1)e%dx. HKayabpr: (x° -3x+4)e" +C.
5.10. [xctg® xdx. Kaya6br: ln|sinx|—xctgx—x—22+C.
511. [x’e dx. Kayabor: C—(x+2x+2)e ™.
512, | S;:ixx. Kaya6br: In|sinx|— xctgx+C.
5.13. | czjfx. Kayabbi: xtgx+In|cosx|+C.
5.14. [xtg® xkx. Kaya6pr: xtgx+ln|cosx|—x—22+C.
5.15. [(x +2)e “dx. HKayabpr: C—(x+2x+4)e ™.

3 2
. . 1.
5.16. _[xz sin® xdx. YKaya6wr: _x6 ——z sm2x+§c052x+§sm2x+C.

5.17. _fxz (cost+ 3)dx.

2
Kayabbr: x° +%sin2x+£cos2x—%sin2x+€.

5.18. _f(x2 + 2)exdx. Kayaobr: (x2 —2x+4)efx +C.
5.19. [(x? +3)sin xd.

Kayabbr: 2xsinx —(x2 + l)cosx +C.)
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5.20. _f(x2 —3)cosxdx. Kayaobr: (x2 —4)sinx+ 2xcosx+C.

5.21. _f(x2 +l)efxdx. Kayabbi: C—(x2 +2x+3)e7x.
5.22. _f(x2 — l)exdx. Kayaobr: (x — 1)2 e"+C.
3 2
5.23. _fxz cos® xdx. W o+ Zsin2x+Zcos 2x—lsin 2x+C.
6 4 4 8

5.24. _f(x2 + x)sin xdx.
Kayaobr: (2x+l)sinx—(x2 + x—2)cosx+C.
5.25. _f(x2 +x)cosxdx.

Kayaobr: (x2 + x—l)sinx + (2x +l)cosx +C)

5.26. _f(x2 + l)exdx. Kayaowbr: (x2 —2x+ 3)ex +C.
5.27. _f(x2 —l)e’xdx. Kaya6wbr: C—(erl)2 e’
.9 x X 1
5.28. _[xsm xdx. Kayabbi: T—Tsm 2x—§cos 2x+C.
. . 1
5.29. J'arcsm 9xdx. Kayadbr: xarcsin9x+ 5\/1 —81x* +C.

2
1
5.30. jxarcctg 2xdx.  KayaGwbr: x? arcctg2x + % + 3 arcctg2x+C.

6.
6.1. f(x+l)ezxdx. 6.2. J.(x—Z)exdx.
6.3. J.(x - 7)cos 2 xdx. 6.4. _f(l - x)cos Sxdx.
6.5. J.(x + 2)cos 3xdx. 6.6. J.(x - 2)cos Axdx.
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6.7. [(x—4)sin 2xdx.
6.9. J. (x +4)sin 2xdx.
6.11. f(x+5)sin xdx.
6.13. |

6.15. [(x+4

x +9)simn xdx.

)
)

6.21. J. X+ 6)cosdxdx.

6.23. J.(x +1)cos Txdx.
6.25. J.xsingdx.
6.27. [(x+ 1)sin§dx.

6.29. _f(x + 3)sin§dx.

7.1. [In(x—5)dx.
7.3. _fxze*xdx.
7.5. _[xze’zxdx.
7.7. _[xcos8xdx.
7.9. _[arcsinSxdx.
7.11. _[xarctgxdx.

(

( sin 3xdx.
6.17. _[(x 4)cos 2xdsx.
6.19. J.(x + 4)cos 3xdx.

(x+6)
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6.8. [(x—3)cosxdx.
6.10. _[xsin3xdx.
6.12. [(x—5)cosxdkx.
6.14. [(x+7)sin 2xdx.

(
6.16. _f(x+3)sin5xdx.
6.18. j(x—8)sinxdx.
6.20. J.(x+8)sin3xdx.
6.22. _|.(x—6)sin§dx.
6.24. [(x+ 2)singdx.
6.26. | (x+4)cos%dx.

6.28. _[(x +2) cos%dx.

6.30. _f(x — 9)sin§dx.

7.2 _[arctg 2xdx.
7.4. _f(x + 1)e74xdx.
7.6. _[ arctg 3xdi.
7.8. _[ arctg 4xdx.

7.10. [(x+1)e “dx.
7.12. fxze3xdx.



7.13. J.xcos(x + 4) adx.
7.15. _[xcos(x +3)dx.

7.17. _|.xe’7xdx.

7.19. _[xsin (x + 7)dx.
7.21. _fxsin(x + 4)dx.

7.23. [(x+3)e “dx.

7.25. | (x2 —3)exdx.

7.27. _[xcos(x + 7)dx.

7.29. j xe™ S dx.

8.1. [arcig 2xd.
8.3. [arcsin3xx.
8.5. [arctg8xdx.
8.7. [arcsin 8xax.
8.9. [xcos(x+4)dx.

8.11. _[xcos(x —7)dx.

8.13. [(x—4)etdx.
8.15. _[arctg7xdx.
8.17. [In(x—7)dx.
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7.14. |xcos(x —2)dx.
7.16. | xe*Zdx.

7.18. [arcsin 2xdx.
7.20. [xcos(x—4)dx.
7.22. [xcos(x+9)dx.
7.24. [arccos xdx.
7.26. [xe “dx.

7.28. [xe *dx.

7.30. _[xcos (2-x)dbx.

8.2. [xcos6xdx.
8.4. _[arccos2xdx.
8.6. [xsin(x—2)dx.
8.8. [xsin(x+3)dx.
8.10. [arccos 7xdx.
8.12. [xsin(x—5)dx.
8.14. [xe **d.
8.16. [arcsinSxdx.

8.18. _fxcos (x+6)dx.



8.19. _[arctggdx. 8.20. [In(x+8)dkx.

8.21. | arctggdx. 8.22. [In(x+12)dk.
8.23. _farcsin%dx. 8.24. [In(2x—1)dx.
8.25. [In(2x+3)dx. 8.26. _farccos%dx.
8.27. [arctg ™ d. 8.28. [arcsinZ d.
4 7
8.29. _[arctg 6xdXx. 8.30. _farccosgdx.

7.3- YT wnirapy yarici
AHBIKTaIMAFaH UHTCTPAABI TAOBIHBI3

1. _fxz 16— x?dx.

x =4sint,dx = 4costdt,

> _fxz 16-x*dx=| x Cx |=
smt:Z,r:arcst

= _f16sin2 tN16 —16sin? 14 costdr = 256.|.sin2 tcos® tdt =
= 64[sin” r21dt =32[(1—cos 4t )t =32t —8sin4t + C =

= 32arcsin§ —8sin 4[arcsin %j +C=

:32arcsin§—§(8—x2)\/16—x2 +C. <
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